

## 2

$$\bar{y} = \frac{1}{t_2 - t_1} \int_{t_1}^{t_2} y(t) dt$$

$$y_e = \sqrt{\frac{1}{t_2 - t_1} \int_{t_1}^{t_2} y^2(t) dt}$$

Fourier

$$\int_{t_0}^{t_0+T} \phi_m(t) \phi_n(t) dt = \begin{cases} 0 & m \neq n \\ r_n & m = n \end{cases}$$

Fourier

$$\int_{-T/2}^{T/2} \cos(n\omega t) dt = 0 \quad m \neq 0$$

$$\int_{-T/2}^{T/2} \sin(n\omega t) dt = 0 \quad \forall m$$

$$\int_{-T/2}^{T/2} \sin(m\omega t) \sin(n\omega t) dt = \begin{cases} \frac{T}{2} & m = n \neq 0 \\ 0 & m \neq n \end{cases}$$

$$\int_{-T/2}^{T/2} \cos(m\omega t) \cos(n\omega t) dt = \begin{cases} \frac{T}{2} & m = n \neq 0 \\ 0 & m \neq 0 \end{cases}$$

$$\int_{-T/2}^{T/2} \cos(m\omega t) \sin(n\omega t) dt = 0 \quad \forall m, n$$

$$\int_{-T/2}^{T/2} e^{jm\omega t} dt = 0 \quad m \neq 0$$

$$\int_{-T/2}^{T/2} e^{jm\omega t} e^{-jn\omega t} dt = \int_{-T/2}^{T/2} e^{j(m-n)\omega t} dt = \begin{cases} T & m = n \neq 0 \\ 0 & m \neq n \end{cases}$$

### FOURIER

$\mu$  **Fourier**

$$y(t) = A_0 + \sum_{n=1}^{\infty} (A_n \cos n\omega t + B_n \sin n\omega t) = C_0 + \sum_{n=1}^{\infty} C_n \cos(n\omega t + \phi_n) = C_0 + \sum_{n=1}^{\infty} C_n \sin(n\omega t + \phi_n^*)$$

$$A_0 = \frac{1}{T} \int_a^{a+T} y(t) dt = \frac{1}{T} \int_0^T y(t) dt$$

$$A_n = \frac{2}{T} \int_a^{a+T} y(t) \cos(n\omega t) dt = \frac{2}{T} \int_{-T/2}^{T/2} y(t) \cos(n\omega t) dt$$

$$B_n = \frac{2}{T} \int_a^{a+T} y(t) \sin(n\omega t) dt = \frac{2}{T} \int_0^T y(t) \sin(n\omega t) dt$$

$$C_0 = A_0 \quad C_n = \sqrt{A_n^2 + B_n^2}$$

$$\tan \phi_n = -\frac{B_n}{A_n} \quad \tan \phi_n^* = \frac{A_n}{B_n}$$

### Fourier

$$y(t) = \sum_{n=-\infty}^{\infty} D_n e^{jn\omega t}$$

$$D_n = \frac{1}{T} \int_a^{a+T} y(t) e^{-jn\omega t} dt = \frac{2}{T} \int_{-T/2}^{T/2} y(t) e^{-jn\omega t} dt$$

$$D_n = \frac{1}{2} C_n e^{j\phi_n} \quad D_{-n} = \frac{1}{2} C_n e^{-j\phi_n}$$

$$|D_{-n}| = |D_n| = \frac{1}{2} C_n \quad n \neq 0 \quad D_0 = A_0 = C_0$$

$$D_n = \frac{1}{2} (A_n - jB_n) \quad A_n = D_n + D_{-n} \quad B_n = j(D_n - D_{-n})$$

### PARSEVAL

$\mu$  **Fourier**

$$y(t) = A_0 + \sum_{n=1}^{\infty} (A_n \cos n\omega t + B_n \sin n\omega t) = C_0 + \sum_{n=1}^{\infty} C_n \cos(n\omega t + \phi_n) = C_0 + \sum_{n=1}^{\infty} C_n \sin(n\omega t + \phi_n^*)$$

$$\mu \quad \mu \quad :$$

$$P_y = \frac{1}{T} \int_a^{a+T} y^2(t) dt = \frac{1}{T} \int_0^T y^2(t) dt = A_0^2 + \frac{1}{2} \sum_{n=1}^{\infty} (A_n^2 + B_n^2) = C_0^2 + \frac{1}{2} \sum_{n=1}^{\infty} C_n^2$$

### Fourier

$$y(t) = \sum_{n=-\infty}^{\infty} D_n e^{jn\omega t}$$

$$P_y = \frac{1}{T} \int_a^{a+T} y^2(t) dt = \frac{1}{T} \int_0^T y^2(t) dt = \sum_{n=-\infty}^{\infty} |D_n|^2$$

$$f_{ev} = \sqrt{P}$$

**FOURIER**

Fourier :  $y(t) = y(-t)$

$$A_0 = \frac{1}{T} \int_a^{a+T_0} y(t) dt = \frac{2}{T} \int_0^{T/2} y(t) dt$$

$$A_n = \frac{2}{T} \int_{-T/2}^{T/2} y(t) \cos(n\omega t) dt \Rightarrow A_n = \frac{4}{T} \int_0^{T/2} y(t) \cos(n\omega t) dt$$

$$B_n = 0$$

$$D_n = \frac{1}{T} \int_a^{a+T} y(t) e^{-jn\omega t} dt$$

$$A_0 = 0 \quad A_n = 0$$

$$B_n = \frac{2}{T} \int_{-T/2}^{T/2} y(t) \sin(n\omega t) dt \Rightarrow B_n = \frac{4}{T} \int_0^{T/2} y(t) \sin(n\omega t) dt$$

$$D_n = \frac{1}{T} \int_a^{a+T} y(t) e^{-jn\omega t} dt$$

$$y(t) = -y(t+T/2)$$

$$\sin(x) = -\cos(x + \frac{\pi}{2}) \quad -\cos(x) = \cos(x + \pi)$$

$$\sin^2(\theta) + \cos^2(\theta) = 1 \quad \sin(2\theta) = 2 \sin \theta \cos \theta \quad \cos(2\theta) = \cos^2 \theta - \sin^2 \theta$$

$$\sin^2(\theta) = \frac{1 - \cos(2\theta)}{2} \quad \cos^2(\theta) = \frac{1 + \cos(2\theta)}{2}$$

$$\sin(\alpha + \beta) = \sin \alpha \cos \beta + \cos \alpha \sin \beta$$

$$\sin(\alpha - \beta) = \sin \alpha \cos \beta - \cos \alpha \sin \beta$$

$$\cos(\alpha - \beta) = \cos \alpha \cos \beta + \sin \alpha \sin \beta$$

$$\cos(\alpha + \beta) = \cos \alpha \cos \beta - \sin \alpha \sin \beta$$

$$\cos \alpha \cos \beta = \frac{1}{2} [\cos(\alpha - \beta) + \cos(\alpha + \beta)]$$

$$\sin \alpha \cos \beta = \frac{1}{2} [\sin(\alpha - \beta) + \sin(\alpha + \beta)]$$

$$\cos \theta = \frac{e^{j\theta} + e^{-j\theta}}{2} \quad \sin \theta = \frac{e^{j\theta} - e^{-j\theta}}{2j}$$

$$\int \cos ax dx = \frac{\sin ax}{a}, \quad \int x \cos ax dx = \frac{\cos ax}{a^2} + \frac{x \sin ax}{a},$$

$$\int \sin ax dx = -\frac{\cos ax}{a} \quad \int x \sin ax dx = \frac{\sin ax}{a^2} - \frac{x \cos ax}{a}$$

$$\int e^{ax} dx = \frac{e^{ax}}{a} \quad \int x e^{ax} dx = \frac{e^{ax}}{a} \left( x - \frac{1}{a} \right)$$

$$0, \quad : D_0 = C_0$$

$$: |D_n| = |D_{-n}| = \frac{C_n}{2}.$$

$$|D_n| \quad C_n \quad n \quad n$$

$$\theta_n \quad n \quad -\theta_n \quad n.$$